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QUESTION 1

You are upgrading your Data ONTAP cluster from clustered Data ONTAP 8.3 to clustered Data ONTAP 

9.1. Which two actions mustbe performed for the SnapMirror relationships? (Choose two.) 

A. Break existing SnapMirror relationships. 

B. Delete the obsolete SnapMirror Snapshot copies which were created in Data ONTAP 8.3. 

C. After the upgrade, resynchronize, and resume SnapMirror relationships. 

D. Delete and re-create SnapMirror relationships. 

Correct Answer: AC 

 

QUESTION 2

You want to conserve disk space in your SnapVault destinations. You enablestorage efficiency on each of the
secondary volumes. Which two statements are true in this scenario? 

(Choose two.) 

Response: 

A. Storage efficiency can be enabled on the secondary volume and SnapVault will manage the schedule. 

B. Storage efficiency can beenabled on the secondary volume, but a manual schedule will need to be assigned. 

C. If storage efficiency is enabled on the primary volume, it will be preserved on the secondary volume. 

D. SnapVault implicitly uses storage efficiency. 

Correct Answer: AC 

 

QUESTION 3

Your customer is concerned that his volume might run out of space. Which two volume command options would be
used to resolve this problem? 

(Choose two.) 

A. snapshot autodelete 

B. autosize 

C. space-guarantee 

D. filesystem-size-fixed 

Correct Answer: AB 
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QUESTION 4

A customer wants compression enabled on the SnapVault secondary volume. Which two statements are 

true? 

(Choose two.) 

A. A warning message is not displayed when you enable compression on a SnapVault secondary volume. 

B. Data transfers will be storage efficientafter enabling compression on the SnapVault secondary volume. 

C. A warning message is displayed when you enable compression on a SnapVault secondary volume. 

D. Data transfers will not be storage efficient after enabling compression on the SnapVault secondary volume. 

Correct Answer: CD 

 

QUESTION 5

What are three prerequisites for replicating an Element OS volume to ONTAP? (Choose three.) 

A. SnapMirror must be licensed on the SolidFire cluster. 

B. The ONTAP cluster must be running ONTAP 9.3 or later. 

C. SnapVault must be licensed on the ONTAP cluster. 

D. Enable SnapMirror on the SolidFire cluster. 

E. SnapMirror must be licensed on the ONTAP cluster. 

Correct Answer: ADE 
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